| Version No. ROLL NUMBER
3/ojofs]s L[]

© @ @ @ © ®@ @ @ @ ©@ @
000 @ OBORE OO ORRO)
MATHEMATICS HSSC-I @ @ @ @ @ @ @ @ @ @ @
SECTION - A (Marks 20
Timealiowed:2(5Minutes) 600 e @0 0ee00
Section — A is compulsory. All parts of this @ @ @ @ @ @ @ @ @
section are to be answered on this page and
"“"Sif,?i:’g;;'}:;:ﬁ‘f&:;’g; ?,::g.'::"::;‘"* ®® 6060 ©e @600
not use iead pencil, &
S Al Lot LS p P ere P S1ain Lot g s © e 6@ ©® e 000
gl it e S Q0 000 o @ 0 @ @ O
® & ®
® ® ® ® ® @
Answer Sheet No.

S Sz n QW LS L e L i, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

| | questien A B € ) Al B |l c]| o]
. 2 ik x I
1. What is the period of 38111(;) ? 107 307 5 3n & DO O O
Which of the given opfions state the | = 27 ® 3z
solution of Sinx+Cosx=07 & g s g & O o 0O
3. What is the multiplicative inverse of — ? 1 ] i f O O O O
4, The reel pert of 1+71.i3. 1 1 .__1 1
’ 3-4i 2 2 = c O O O
if A is a matrix of order 3x2 , then order of
3 the product 4’ Ais: 2 g aua B O ©C O O
i 00
f 4=|0 ¢ 0, then which one in the| .
i 00 i ~i4 i4 -4 A O 0 O O
options is A ?
What is the projection of o along Bif| 3 L. 3 F 4
7. g=3i+j-kand p=i7? 7{ U{i W “Ji“_fi O O O O
For what vaiue of &, vectors 4i+16j+ak 5
8 and 2i+8;~ 4k are paralle! to each other? 3 92 B B o Q O g
If x-3,6, y+3 arein A.P then value of x+ y
9. i
i 12 18 0 & O & 20 & I
The n* term of a series : 2
0 B8 TP e {p=apn (2n+1)(n+1)] (2n+Dn (Rt o O O O
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| | Question A B c B Ale]c]bo]
in how many ways Spersons can be | ,, You . L ig
1 seatedat a round table? # 2( ) 2( ) & O Q ©
What is the probability of drawing a King | ., A i A
12, from a well shuffied pack of 52 playing 5 = = = ) Q O O
carcs?
What is the coefficient of 3™ term in the
§ ] 8 g
A expansion of (x——l-] ? C3 C4 1 C2 O O O O
X
Which one in the given options is true if ;
4 905 2(n+1) rez® 7 n<3 n>3 n<2 n>2 ey O o 1)
15. The graph of y=x'is symmetrical about: |x-axis y-axis Origin y=x ' G e S v
16. {—L~1)is a solution of the inequality: 2x+y<—1 |4x+3y>0 |~x~2y<0 |2Zx~y>1 O O O O
Which of the following opfions esquales — . o o
7 Cost96e? Sinl§ —Sinl6 Cosl6 —Cos16 O O O O
3 . 3 7 1 =)
. ==, then value of 241is: i LN - —
8. If Cosf i he Cos2/is - : - : O O O O
Area of a ftriangle AABC (with usual 3 N3
9 notations) a=2,5=+3 and y=%ia: 5 : 4 £ O O O O
What is the shadow length of a +/3m high | I 1
20. = 1 —=N
tree if sun's elevation is 45° 7 2 ~J§m % V3 O O o O

——1HA-| 24008- 30083(B) —

ROLL NUMBER

| 1]

Page 20f 2



Time allowed: 2:35 Hours
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Total Marks Sections B and C: B0

SECTION — B (Marks 48)

Cl. 2 Solve the following Questions. (12x4=48)
b (3+iy I 3 g5 !
Simpli =22 inthe form a+ibwhere 1=+-| . I |
Py e B bl 04 | OR| Findrowrankof f4 2 1 3 04
and find the value of |7 . 52 4 2]

(ii) | Solve the system of linear equatons.; " i : 2 2 H
(3-20)x-+{1+21)y-1=0 s | an If 4" and 10" terms of a HP are Tgand 1R
(3+2)x—(1-20)3=1=0 . respectively, then find its 23™ term.

(iiiy | s 9 ﬂ ! For what value of p, vectors 3pi+1lj-5kand:

- i | :
FA=|4 8 1| thenshowthat (.4+A’] is symmetric.| 04 OR | 2pi+ pj+2kare mutually perpendicular? 04
307 DJ ; |

{iv} i Find the volume of a tstrahedron with vertices . Insert four A Ms betwesn Sand 25.

A(1,2,2), B(2,11), €(3,3,4) and D(0,1,5) o L 04

v) 3 | Sum to n-terms the series 1.5+ 2.6 1

If Zf" and 6* terms of a GP are 3 anc'l ) respectively, 06 | OR 04
find its 16 term,

{vi) | How many 7-digit different numbers can be formed : ] n(3n—1) ;
from the digits 5,5,6,6,9.9.9 using all and how many of| o4 | or Frovethat 1-4+7+.. +(3a-2}= ——— byusing 04
them are greater than 9,950,000 7 | the mathematical induction.

vii i 5

bl For & real valued function £(x) = ot e 1t Cosa= é. Sinf=-=  with L <p<nand

x+2 04 OR | 5 13 2 4
-1 s ; ; : .
find f'(x) and determine its domain and range. %r{ a <3 , hehind e value of Sia(a+5)

{viii)| State number of diagonals of an n-sided polygon and Provethat . . T
find number of diagonals of a nine sided polygon. 04 | OR i 8in20 +Sin 46 + 8ini68 +Sin86 = 43in 3¢ Cos 20Cusé 04

{ix} | Find the equation of a parabola y=ax®+bx + ¢ that A pairof fair dice is thrown. The number of dots on the

: ) = top are added, What is the probability of getling a sum
{ cuts x-axis at points {~4,0). (4,0) and passes through! o4 | OR greater than § or a sum divisible by 5. 04
| a point (0,8).
;- -1 = 5(°55
) Verify that Cns“8=-]-(3+2(jos;‘.8+ [30949) 04 OR s mar?gie ARC w@ e=310h A= and. 04
8 C=l3¢m using usual notations. i
(xi) | Find radii of the escribed circles of triangle ABC i 5 . i B
: opposite to the largest and smallest sides given that| s | OR | 'Lout drawing, guess the graph of pestzanding) o,
- a=13,b=10and ¢ =7 (using usual notations) 1 its period, frequency and amplitude.
xXii} ¢
(il | Verify that 2S=8RCos%sm~§c:os§ 04 | OR/| Verify that Tan™ 3 —Tan"j;: +2Tan™ % = 04
' SECTION - C (Marks 32)
Mote: Solve the following Questians. (4x8=232)
{Use of graph paper Is not necessary. Candidates can make their own grid on 2nswer book)
Q3 1 1 2 If @=-10i+2j+4kand b=i- j+2kthen find a unit
EFinG inverse ofthe matrix | 3 -1 1 vector orthogonal 1o axb . Also find angle between
E A %4 08 | OR | thevectors gand b. 08
Q.4 LUse Qauss Jordan method to solve the system of linsar 1 (1 L3 1Y 13571V '
. equations: If }'=—-—[-)+ - ,) +—_'-;-[-] +....then verify |
D x—2y4z=3 3x+3p=ll 4y+3z=13 08 | OR UNG) A(2is)  S(3LE | o8
I that 5y* +10y—~1=0 j
Q.5 i Find point of intersection of the functions f{x)=-x16 Find general solution of a trigonometric equation |
) 08 OR | 3Cnsx+3=2Sin’x | 08
and g(x)=x"-4x + 6 graphically.

Q.6 F{nd maxirnum and' minimum values of a funct.ron Sketch the graph of yz?.C:)gﬁ; g By

fi{xy)=2x+3ysubject fo. the constraints 95  OR 2 08

x+2y<10, 3r+y<9, Q+8y<il x20,y20
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MATHEMATICS HSSC-

SECTION - A (Marks 20)
Time allowed: 25 Minutes

Section = A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Cantre Superintendent.

Deleting/averwriting is not aliowed,
Do not use lead pencil.
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LA etmend LAESEL oo L Jv, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum:

Candidate Sign.

| | Question A B C D A8 ] c]|bp|
1. W z=-3-5ithenvalue of z—zis: 3+10: 6 6+10i 10: x O O O
What is the modulus of complex number 10 10
1-2i 3 5 :
2 2 2
i i 1
" For what value of », |0 x 6|is & singular 0 1 o 12 O O O O
a 0 6 12
matrix?
1 2 102
£ If i :,{ =§ {13 ;, then order of ) 253 ) 33 O O O O
matrix 4is:
For what value of o , vectors 3i+4j -k and o 3
o i—aj have the same magnitude? = - JZ_S 4 O O O O
If |a.8]=|2x8| then angle between vectors
6. iy e & 30° P 180°
zand pis: 4 o 80 O O O O
For what value of ¢ , numbers E, —1—, X arein| 1 1
7. 75 ~ — 7 15 o o 4 O
HP? ? 15
nt" term of a series 2 2 5
8 2xl +4x P +6xF +...., I8 (zn)”’ (2ﬁ+l)ﬂ (2rs+2)n 7 O O O O
In hew many ways 5 keys can be arranged | _, Ty 1.,
% on a circular key ring? Al 2 (S) 4 2(4‘) O O O O
What is the probability of getting one head | 1 2z 3 4
0. on tossing two fair coins? 4 4 4 4 O O O O
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| | Question A B c D AlBilc]| bl
. l 1 "

11, In the expansion of (x —;} 6" term from 5th e 71 an O O O
end is:
For which given least value of n. the

2. expression n[>(2" -«1) remains frue? ! " ¥ 4 O O O

- Th'e graph of y=2x"—6x culs x-axis at {0’9) only (3,0) only (0,0),(3,0) {0,0),(-3,0) O O O
paint{s):

14. (0,0) is NOT a solution of the inequality: x+y+1>0| x~y<l 2x+y<l |-2x+y+1col O O O
Which one of the given opfions, equates

15 gin(250%) 7 . i " Cos16° ~Cos16 Sin16° -sin16° b O O

16. u;:jf '.;:Srifﬁf?the given oplions, eQUALES | o1 Cosdx | Costox+Cordx | Cosdx~Costlx |~Cosdr—Casler| () () O
What is the area of triangle A4BC with

" ﬁ.—.% (usual notations) & 2 i 45 a9 O

U T
I ti

18 If shadow length of a building is :E mes 3pe 450 60° 9ge O O D

its height, the elevation angle of sun is:
. . ; {x\ 2w

19. What is the pericd of 55ch§ J? T 3 6 307 () O
One sciulion of the  equation | T 2 Ix -

o Cosx+8inx=-/2 is: 4 4 4 4 O O O
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Time allowed: 2:35 Hours
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MATHEMATICS HSSC-I

Total Marks Sections B and C: 80

SECTION~B
2.2 Solve the following Questions. (12x4=48)
{i) 4—6i)(2+ !
Simpllfy ( &l in the form a-+:ibwhere ; e sl
B+i)(1+1) 0s | op| Findthevalueofz if| 4 5 ¢ |isa i
|:_Jl_andf:nd the value of . L7 B x+9
g singular matrix. )
{il) ; Solve the system of linear  equations, A particie acted by constant force 2+ j,i+2), f“'i"";-‘
! 2+ 3‘1]3‘ (1 '“‘}J’ -11=0 04 OR | and 3i=2j+4kis displaced from point £(9,-2,-3)to! 04
(+)x+(2-3)y-11=0 point Q(2.0,6}. Find the work done.
(iii) T 8 & Find number of different arrangements that can be
: / y made from the letters of word PARALELLOGRAM
M A=)6 7 5|, then show that \-4";]23 skew-| 04 | oR | {using alb and how many of fhese begin with PE and! 4
i 56 4 end with OM?
| symmetric. :
{iv) | Insertfour G.Ms between 7and 1701 Find the volume of a parailelepiped with adjacant |
04 | OR | edgesdefined by vertices. 4{0,.2), B(1,2,1), C(5,56) | ;4
and D(3,3,3) |
(v} | The 11" and 19" terms of an AP are 42 and 74 Sum to n-terms the series 1.2+2.3+34+ ..
respeclively. Find the sum of first 20 terms of AP. 04 : OR 04
{v) | Verify that 3+7+11+...+ (4n~1) = n(2n+1) by using Find the walues of 'w'and '~ If *P,=15120and,
i : 04 OR 04
the mathematical induction. *C, =126
i) In an HP, 8% term is Z and 17" term is - Fing 35;*_ For a real valued functicn *“(ﬂ—-?—' -------- find 77'(x)
' 5 Th 04 | OR : t+a4 04 |
| term of the HP. and determine its domain and range.
{viii}| [n & single throw of two fair dice, the number of dots on . i
the top are added. Find the probability of getting asum| g | g Mithout crawing guess the gragh of v SCusdAlal 5
: of 7or 9. find its period, frequancy and ampiitude.
(i E 3 * Y R i Zas o
(ix) % Swa_g Smﬁ—% with ~3-~< P Sc{lve tnarlagleta;{Berth a=15c=20and £=00
. 4 04 OR Using usual notations. 04
b < f <2z, then find the value of tan(x + 7).
) T Verty thai | Find radil (R’ and '} of circumscribed and inscribed
Cus36 + Cos 58+ Cos 70+ Uos 98 = 4Cos d Cos 20 Cos 66 04 OR ciicles of tliangle A4BCwith side measures} ga
| @=dem,b="cm and ¢=9n (use usuzal notations).
(xi) | ., . . @ B e 1;.
Verify that 2r=8RSmE Sm--z-sxn-5 04 | or Verify Sm"ﬁzg(.) +Cos46 —4Cos20) F
{use usual notations). |
(xif) | Verify that { Find equation of a parabola y=ad+bx-c
{Sm_l 1 . Sin- —:l—-]+i{Cos" 2 Cns"i]zﬁ 04 | OR; (Ya,b,c=R}that cuts x-axis at points (~5,0),(4,0)end | o4
N ol 5 o) 2 | passes through a point (1,18}
SECTION - C (Marks 32)
Note: Solve the following Questions. (4x8=32)
(Use of graph paper is not necessary. Candidates can make their own grid on answer bock)
Q.3 _ 11 2 Find a vecior of magnitude 14 unils orthogonai to |
Find inverse of the matrix | 3 -1 1 vectors a=-i+3jand b=i+2k both. Also find |
E oz OR | angle between the veclors g and 5. | g8
Q.4 | Use Gauss Jordan method to solve the system of finear _ Find the boint of intersection graphically from the '
eguations. 08 | OR i i Nl =3t . o8
B P T | foliowing functions. f(x)=-x+4 g{x)=x"~35+1
Q.5 1 {1 3 (1Y 135 {rl\ﬂ { Find general solution of a trigonometric ecuation !
If y= L } L j S| “J +ouny then i Cos2y =Sinx i ]
(@4\a) (384 08 | OR 08
prwethat 33 +6y—1=0
6 | Fi i ini ' ; D
Q ind maximum and‘ minimum values of a funct.lon Sheih e grapliof y=Sin€; gy
f(xp)=3x+2psubject fo  the constraints 08 | OR 2 ;]
X+2Y<8, Sy—2v<I0, Tx-S5p>-35, x20. 20
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